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Part A: Vocabula ry

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
N scntence. Then mark the correet choice on uuran#n‘enhu‘t

I- He is a woman of -——--—-—— who has never abandoned his principles for the sake of
making money. :
1) unlity 2) integrity 3) treaty 4} aerimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
I }imerval 21 perceplion 3 senith 4) distraction

3- Jackson's poor typing skills were a -----——-- to finding employment at the nearby office
complex.
|} hindrance 21 supplement Ay confirmation 4 versatility

4- The judge dismissed the extrancous evidence because it was not =———---ae to the trial.
1) ohedient 2} treacherous 3) pertinent 4} vulnerable

5- Because hiology is such g «--eeeeee - subject, it is subdivided into separate branches for
convenience of study.
1) deficient 21 consistent i) broad 4) mutusl

6- In addition, physicians may have difficulty in deciding that an illness can be ----—vmmx

the job. Many industrial diseases mimic sickness from sther causces,
1y attributed o 2} precluded from 31 refrained from A4} exposed o

7- Mechanics was one of the most highly developed sciences -=-------- in the Middle Ages.
17 extracted 2) persisted 3 resolved 4) pursued

8- In the absence of death from other causes, ull members of a population may exist in
their environment wntil the =--c-——-- of senescence, which will cause a decline in the
ability of individwals to survive.
|} ratio 21 onset 1 core 41 output

O Before the invention and diffusion of writing, translation was —----——— and oral;
persons professionally specializing in such work were called interpreters.

[} subsequent 2% unilateral 1y eventual 4) instantaneous

1-Publie attitudes toward business regulation are somewhat ---——-—; most people resent
intrusive government rules, vet they expect government to prevent businesses from
defrauding or endangering them.

1) copent 2} emotional 3) ambiguous 4y indifferent

[ Part B: Cloze Test

i Dircctions: Read the following passage and decide which cheice (1), 23 (3 or {4) best fits
nlﬁ s f{‘.I‘I.I"i ﬂu.- ii:e on your answer sheet,

[he variety of successful dictary strotegies (11} =--———-- = by traditionally living populations
provides an important perspective on the ongoing debate about how  high-prowin, low-
carbohydrate regimens such as the Atkins diet compare with [ 12} === underscore complex
curbuhydrates and fat restriction. The Tact that both these schemes produce weight loss is not
surprising, (13} —=--==a— both help people shed pounds throvgh the same basic mechanisim:
(14} ——=-—-— major sources of calories. When vou crente an energy delicil —thal g5, when yvou
consume lewer calorics (15) -——---— —vour body begins burning its (00 stones amd vow Jose
weipht,

11- 1) employed 2 are emploved 3} is employed 4) then employed

12- 1) those that 2 the ones they 3) that which 4) they

13- 1) in fact 21 althougzh 31 hikewise 41 because

B4- 1) himit 2) imiting 3} which limn 4) with limting

15- |} are expended 2} that they are expended

3] than you expend 4} to expend
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), ar(4).
. Then mark in on yvour answer sheet,

Passage 1

EI Nifio-Southem Oscillation (ENSO) is a global coupled ocean-atmosphere phenomenon,
The Pacific ocean signatures, El Nifio and La Nifia are impornant temperature fluctuations in
surface waters of the tropical Eastern Pacific Ocean. The name EI Nifio, from the Spanish for
“the linle boy", refers to the Christ child, because the phenomenon is usually noticed around
Christmas time in the Pacific Ocean off the west coast of South America. La Nifia means "the
little girl". Their effect on climate in the subtropics and the tropics are profound. The
atmospheric signature, the Southern Oscillation (SO) reflects the monthly or seasonal
fluctuations in the air pressure difference between Tahiti and Darwin. The most recent
occurrence of El Niflo started in September 2006 and lasted until early 2007, ENSO is a set of
interacting parts of a single global system of coupled ocean-atmosphere climate fluctuations
that come about as a consequence of oceanic and atmospheric circulation. ENSO is the most
prominent known source of inter-annual varability in weather and climate around the world
(~3 to 8 years), though not all areas are affected. ENSO has signatures in the Pacific, Atlantic
and Indian Oceans, EI Nino causes weather patterns which cause it to rain in specific places
but not in others; this is one of many causes for the drought. In the Pacific, during major warm
events, El Nifio warming extends over much of the tropical Pacific and becomes clearly linked
to the SO intensity. While ENSO events are basically in phase between the Pacific and Indian
Oceans, ENSO events in the Atlantic Ocean lag behind those in the Pacific by 12 o 18
months.

16. It is stated in the passage that El Nifio-Southern Oscillation —--eeeceeeev,
1) was first observed in Spain
2) often takes place around Christmas time
3) causes temperature fluctuations in oceanic deep waters
4) means * the linle boy™ due to the unimportant havoc it inflicts
17, The passage mentions that ~—-------- -
1) Tahiti and Darwin have some of the highest air pressures in the world
2) the worst El Nifio in recent history had a duration about five months
3} the climate of the subtropics is influenced by that in the tropics
4} the Southern Oscillation is a kind of an atmospheric signature
I8. According to the passage, the weather patterns caused by EI Nifio
1) are the leading cause of precipitation in areas extending over almost all parts of in the
Pacific, Atlantic and Indian Oceans
2) make the spread of variability in weather not to be an inter-annual nature
3) lead to a similar change in air pressure in Tahiti and Darwin
4 can create serious lack of water is some areas
19. According to the passage, ENSO events in the Atlantic Ocean -—---—----- -
1) precede the ones that happen in the Pacific
2) last longer in the Atlantic Ocean than in the Pacific
3) happen simultancous to those occurning in the Pacific and the Indian Ocecans
4) may take a year or longer to die out after they begin in the Atlantic and Pacific Oceans
2. The word “prominent” in line 10 is closest in meaning to —==-=——=—-—-—
1) severe 2} productive 3) significant 4) commonplace
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Passage 2

Geologically short-term temperatures are believed 1o be driven by orbital factors. The
arrangements of land masses on the Earth’s surface are belicved to reinforce these orbital
forcing effects. Continental drift obviously affects thermohaline circulation, which transters
heat between the equatorial regions and the poles. as does the extent of polar ice coverage,
The timing of ice ages throughout geologic history is in part controlled by the position of the
continental plates on the surface of the Earth. When landmasses are concentrated near the
polar regions, there is an increased chance for snow and ice to accumulate. Small changes in
solar energy can tip the balance between seummers in which the winter snow mass completely
melts and summers in which the winter snow persists until the following winter. Comparisons
of plate tectonic continent reconstructions and paleoclimatic studies show that the
Milankovitch cycles have the greatest effect during geologic cras when landmasses have heen
concentrated in polar regions, as is the case today, Today, Greenland. Antarctica. and the
northern portions of Europe. Asia, and North America are sitvaied such that a minor change in
solar energy will tip the balance between year-round snowfice preservation and complete
summer melting. The presence of snow and ice is a well-understood positive feedback
mechanism for climate. The Earth today is considered to be prone to ice age glaciations,
Another proposed factor in long term temperature change is the Uplifi-Weathering
Hypothesis, first put forward by T, C. Chamberlin in 1899 and later independently proposed in
1988 by Maureen Raymo and colleagues, where upthrusting mountain ranges expose minerils
to weathering resulting in their chemical conversion o carbonates thereby removing CO2
from the atmosphere and cooling the earth.

21. The passage refers to the fact that —--eeemnx-,
1) the earth’s surface is capable of reinforeing the thermohaline circulation caused by
continental drifts

2) equatorial regions and poles cause the thermohaline circulation 1o have an effect on ice
coverage

3) orbital forcing effects are, in fact, the result of the kind of arrangement of land masscs
on the earth's surface
4) the position of the continental plates in geolopy is partially responsible for the timing of
ice ages
22. The transfer of heat between the equatorial regions and the poles takes place due to

'} comtinental drifis

2) orbital forcing effect
3} thermohaline circulation
4) the extent of polar ice coverage

23, Itis NOT true that Maureen Raymo =-=sweeeee-
1} proposed the Uplift-Weathering Hypothesis, a!thuu;,h he knew it had been patented by
someone else
2} reached, with help of his colleagues, the same conclusions as those put forth by T. C.
Chamberlin
3) worked several decades after the Uplifi-Weathering Hypothesis had been suggested
4} developed a hypothesis that aligned with the one initiated by T. C. Chamberlin

24. The passage is taken from a longer text on —=-—e-c-eeee .
1) landmass concentrations 2) continental drift
3 climate change 4) polar climate
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25. The word “prone” in line 15 is closest in meaning to ———---mmeem- .

1) limited 2} likely 3) empty 4) definite
Passage 3

Hail forms in strong thunderstorm clouds, particularly those with intense updrafts, high liguid
water content, great vertical extent, large water droplets, and where a good portion of the
cloud layer is below freezing, The growth rate is maximized at about -13 °C, and becomes
vanishingly small much below -30 °C as supercooled water droplets become rare. For this
reason. hail is most common in midlatitudes during early summer where surface temperatures
are warm enough to promote the instability associated with strong thunderstorms, but the
upper atmosphere is still cool enough to support ice. Accordingly, hail is actually less
common in the tropics despite a much higher frequency of thunderstorms than in the
midlatitudes because the atmosphere over the tropics tends 1o be warmer over a much greater
depth, Also, entrainment of dry air into strong thunderstorms over continents can increase the
frequency of hail by promoting évaporational ¢ooling which lowers the freczing level of
thunderstorm clouds giving hail a larger volume to grow in. Hail is also much more common
along mountain ranges because mountains force horizontal winds upwards, thereby
ntensitying the updrafis within thunderstorms and making hail more likely, One of the most
notorious regions for large hail is the mountainous northern India and Bangladesh, which have
reported more hail-related deaths than anywhere else in the world and also some of the largest
hailsiones ever measured. Mainland China is also notorious for killer hailstorms, Cenain
locations in North America have gained the nicknamce “Hailstorm Alley™ among
meteorologisis for the frequency of hailstorms and their severity, Hailstones. while most
commonly only a few millimeters in diameter, can sometimes grow to 15 centimeters and
weigh more than half a kilogram.

26. The passage is mainly about --—----—-- .
1) low temperstueres necessary for hailsiorms
2y hail and thunderstorm clouds
31 the shape, size and w:ig-,ht of hailstones
4) the ideal location for hail formation
27. The passage states that -—-------- -
1} hail often occurs at the beginning of summer in midlatitudes
2 thunderstorm clouds characteristically have intense updrafts and high liquid water
content
3} large water droplets are formed in below-freezing cloud lavers
4) the best temperature for the formation hailstones is between <13 *C and -30 °C
28.  According to the passage, hail may occur more often if thunderstorm clouds —----—.
I} when its growth rate is nol maximized
2} can get better evaporational eooling
3} due to the updrafis within thunderstorms along mountain ranges are weakened
4) in midlatitudes where surface temperatures are cool enough to promote the instability
pssociated with strong thunderstorms
29, The passage refers to the fact that -—--v-eeee,
1) Hailstorm Alleys in North America get particularly trequent and hard hailstorms
2} hailstones of 15 centimeters are commaon in the North American Hailstorm Alleys
3} conditions for hail are best inside mountainous vertical winds forced upwards
4} the largest hailstones are the primary cause of death in northern India and Bangladesh
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30. Which of the following best represents the author's attitude toward the subject of

the passage?
1) Alarmed 2) Cautionary 1) Impartial 4) Concerend
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